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1. Find the dimensions of the rectangle of maximum area A that can be inscribed in
the portion of the parabola y? = 4pz intercepted by the line z = a where p and q are
positive constants.

2. If F=1/r? and F is measured as 4 + 0.05, estimate .

3. Evaluate the following limit:
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4. A solid has a base in the form of an ellipse with major axis 10 and minor axis 8. Find
its volume if every section perpendicular to the major axis is an isosceles triangle with
altitude 6. ‘

5. Find the following integral:

fm3+:r;2+a:+2
i+ 312+ 2

6. Find the following integral:

f dz
24+cosx

7. Find the Maclaurin series of tan™! z and evaluate the following sum
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8. Find the interval of convergence of > > ln(ﬂ_l ;

9. Find the volume bounded by the paraboloid z? + 1? = 4z, the cylinder z% + y? = 8y,
and the plane z = 0.

10. Find the integral of the function
z* + 2y
@2 = i

over the unit ball B = {(z,y,2) | 2° + 3> + =% < 1}
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#include <iostream>
#include <cstdlib>
using namespace std;

int main()
.
int vall=20, val2;
int *ptrl, *ptr2;
ptrl=&uvall;
ptr2=&val2;
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*pe2=(*ptr1)*(*ptrl); ,
cout << "vall=" << vall << " *ptr]=" << *ptrl << endl;

cout << "val=" << val2 << " #ptr2=" << *ptr2 << endl;
return 0;

}
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